
	 eq \o\ac(○,1) 2681 ÷ 6 ＝ (    …     )
	 eq \o\ac(○,1) 2681 ÷ 6 ＝ (    …     )
	 eq \o\ac(○,1) 2681 ÷ 6 ＝ (    …     )

	 eq \o\ac(○,2) (       ) ÷ 12 ＝ 384
	 eq \o\ac(○,2) (       ) ÷ 12 ＝ 384
	 eq \o\ac(○,2) (       ) ÷ 12 ＝ 384

	 eq \o\ac(○,3) 84 × (       ) ＝ 588
	 eq \o\ac(○,3) 84 × (       ) ＝ 588
	 eq \o\ac(○,3) 84 × (       ) ＝ 588

	 eq \o\ac(○,4) (       ) × 5 ＝ 1050
	 eq \o\ac(○,4) (       ) × 5 ＝ 1050
	 eq \o\ac(○,4) (       ) × 5 ＝ 1050

	 eq \o\ac(○,5) (       ) ÷ 25 ＝ 26
	 eq \o\ac(○,5) (       ) ÷ 25 ＝ 26
	 eq \o\ac(○,5) (       ) ÷ 25 ＝ 26

	 eq \o\ac(○,6) 9851 ÷ 9 ＝ (    …     )
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	 eq \o\ac(○,9) (       ) × 8 ＝ 8016
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	 eq \o\ac(○,11) 1852 ÷ 5 ＝ (    …     )
	 eq \o\ac(○,11) 1852 ÷ 5 ＝ (    …     )
	 eq \o\ac(○,11) 1852 ÷ 5 ＝ (    …     )

	 eq \o\ac(○,12) 7 × (       ) ＝ 5614
	 eq \o\ac(○,12) 7 × (       ) ＝ 5614
	 eq \o\ac(○,12) 7 × (       ) ＝ 5614
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	 eq \o\ac(○,13) (       ) ÷ 5 ＝ 542 … 2

	 eq \o\ac(○,14) (       ) ÷ 8 ＝ 384 … 5
	 eq \o\ac(○,14) (       ) ÷ 8 ＝ 384 … 5
	 eq \o\ac(○,14) (       ) ÷ 8 ＝ 384 … 5

	 eq \o\ac(○,15) 1409 ÷ (       ) ＝ 7 … 2
	 eq \o\ac(○,15) 1409 ÷ (       ) ＝ 7 … 2
	 eq \o\ac(○,15) 1409 ÷ (       ) ＝ 7 … 2
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＊ 10/8 請用藍筆抄題，


   並在題目紙上寫答案。
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＊ 10/8 請用藍筆抄題，


   並在題目紙上寫答案。


























